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Isafdat & forw rereer /instructions to the Candidates

1. mm%mﬁmmmmmw#mwmmﬁmt
for ¥AflRa ey = g g [

You have been called for the written test based on the online data fumished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required

qualification as per our advertisement, your candidature will be rejected.

2. W-9H, 180 WRAT & Jod WRA-JRETH F Fq A § AR qdew Fr 3@y 03w {1y

The Question paper is in the form of Question Booklet with 180 questions and the duration of the test is
03 hours.

3. uR RoFedt o argfrss vR & oot gl oeed ¥ R o amiftew &7 ¥ |8 gm

The questions will be objective type with four options out of which only one will be unambiguously correct.

4, 9F WA & v 01 3% g 3R a3 & o 3w 78 swrer s

Each question carries 01 mark. There will be no negative marks for the wrong answers.

FUET GET IS ZA/P.T.0.



5. WAl & 3w & & AT Freel Afva afd afear sreet oA sa-gfeasr & sweh
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. 3R SAel/FTN TR F dloage O ¥ NTANR IA-YRaw 7 d4faad sifae A 3ifFa
el 3T & GhT FAr B
You have fo select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/biack ball point pen.

7. TF 9T & fov I3@e 36 Ied 3T AT S|
Multiple answers for a question will be regarded as wrong answer.

8. maﬁﬁﬁﬁgﬁama—gﬁ#ﬁgﬁ%m—g@mﬁﬁvmmw
o= =T

Question booklet code printed on the top right comer should be written in_the OMR answer sheet in the
space provided.

9. FA-GRRAH A IRl A AT IHeTRATF For fAd|
Enter your Name and Roll Number comrectly in the question booklet.

10. MTAAR 3T-9FTH # @l wlafcear AMefvereh Tl & e wgads & & f s aRw
All entries in the OMR answer sheet should be with blue/black ball point pen only.

11. & gl & faders r sufeafa F & s gia-ee | g&amr aar TRl
You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall.

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

14, wea-qieasT 3l 3O O @ w9 §
The question booklet can be retained by the candidates.

15. odier & 2l oA + wdew g B f gEfa 7 B

Candidates are not permitted to leave the examination hall during the examination.
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IRIffT Fgs taNs (R 3+{3d) /| TRAINED GRADUATE TEACHER

(WORK EXPERIENCE)

PART -1

The synonym for the word ‘Slender’ is
(a) Shm (b))  Sturdy

(c) Strong {(d) Slippery

The antonym of the word “Hostile” is:
{(a) Accountable
(b) Amicable

(c) Dangerous

(d) Lethal

Select the wrongly spelled word.

(a) Whimsical (b) Contiguous

(¢) Spectaculer (d) Ingquisitive

Select one word for ‘Working very hard and very carefully’

(a) Dilatory . (b) Indulgent

(¢) Diligent (d) Indigent

Fill in the blank: The road at 15000 feet is not easily navigable as the air is
freezing.

(a) Rarefied

(b} Intensified

(c) Exalted

(d) Elevated

and
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Select the error segment in the sentence: ‘No sooner had Kavya started her online class that

the web connection was lost.”

(a) started her online class
(b) that the web connection
(¢) No sooner had Kavya

{d) waslost

The idiom “Over one’s head” stands for:

(a) unable to function as before
(b) beyond one’s capability to understand something
(c) \ being at a disadvantage

(d) something totally unexpected

Change the voice: ‘They are making elaborate arrangements for the party.’

(a) Elaborate arrangements were being made for the party
(b) Elaborate arrangements are being made for the party
() Elaborate arrangements are made for the party

(d) Elaborate arrangements have been made for the party

Improve the sentence: ‘When the little girl loses her doll, she began to cry.’

(a) loss her doll S (b)  lost her doll
(¢} losing her doll (d) loosing her doll

Improve the sentence: ‘A simple life of freedom and happiness is one of the more difficult thing
to achieve.’

(a) one of the more difficult things to achieve
(b) one of the most difficult things to achieve
(c) one of the most difficult thing to achieve

(d) one of the more difficult thing for achieving
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21.

22.

23.

24.

25.

PART - I1

A Aify QR 2023 H fRE gee R T
Nobel Peace Prize 2023 was awarded to:

(a) ST P/ Jon Fosse ®) FFF AgFAer / Narges Mohammadi
(c) e TS / Malala Yousafzai (d) vow feafdarcehr / Ales Bialiatski

TFa AT @2047 3uRAYT, TS gl & #F Al Frar T an, # JE §
‘Viksit Bharat @2047 Initiative, which was launched recently, aims to?

(a) #eT @ H gUr FT WA H/ Eliminate manual scavenging

Gb), ffE AR Snfdera 7Er A @A HL/ Eliminate religious and caste issues

© fEERt #F AeEE & & fAv gasid 1 affAa ST/ Engage youth to contribute ideas
@ RERt # deere & & e AffanT F MfAT FL/ Engage women to contribute ideas

AR T AT FAW a1 FAd-AURE qF, g B B, s ofa wyr A
fua &7

New Zuari Bridge, the second longest cable-stayed bridge in India, is located in which
state/UT?

(a) 3TN WU/ Arunachal Pradesh (b) GSE / Punjab

(c) MG/ Goa (@ ] ¥R F¥IR/Jammu and Kashmir

gl &1 % 2023 NS AT TR TER I 64 goariaa fwar a2 g2
Who has been recentiy awarded with the 2023 Leif Erikson Lunar Prize?

(ay ISRO () NASA
() JAXA (d) ROSCOSMOS

mﬁﬁzozsﬁm@m#mmﬁwﬁmﬁmmﬂa
F & 39 FFdsidr $r ggare 1 |

Identify the cryptocurrency whose dramatic crash in May 2023 triggered widespread financial
instability in the digital asset market.

(a) TaeissT / Bitcoin (b TS/ Litecoin
(© &/ Ripple (d & guaEst/ TerraUSD

6 1499



26.

27.

28.

29.

30.

ffaf@a & & sia i fr gaumer 82
Which of the following is the capital of Australia?

(a) TS/ Sydney (b)  HAEU/ Canberra
(c) AET/ Melbourne (d) =A% /New York

STraTeT T FET F4r §?

What is the currency of Japan?

(a) 9T/ Won ®) A/ Yen

(c) I3/ Yuan (@ R@T/ Ringgit

e QIS AR A" & AGF diT §?
Who is the author of the book titled “Why Bharat Matters”?

(a) 3fAT AE/ Amit Shah

(b) fAFer faRAT/ Nirmala Sitharaman
(c) TH. FAGYUHT / S. Jaishankar
(d) =T &A%/ Rajnath Singh

AR TIER F Wdd a¥ 23 39d & aftg far &

Government of India has declared August 23 of every year as:

(a) TERT AW f&ad / National Science Day

(®) TS gAiaRor fGEwW / National Environment Day
(© TNF @A A 2aH / National Astronomy Day
(d) TAT ey f&aw / National Space Day

TeAT I wEen AT Fa §E 4

When the first moon landing took place?
(a) 20 SATE 1969/ July 20, 1969

(b) 4 &g 1961/ October 4, 1961

(¢c) 23 3T 2023 / August 23, 2023
(d) 10 3regeX 1968 /October 10, 1968
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31.

32.

33.

34.

oo §&A I FfSw

Find the missing number

(a) 40 (b) 39

() 38 d 56

ST 6, 5, 24, 25, 144, # eTeh HeAr @ §?

What is the next number in the series 6, 5, 24, 25, 144, ?
(a) 145 ) 143

(0 175 @ 187

256842 HT 8 FT IO T & [T FHH et A HEW A T ARC?

What number must be added to 256842 to make it a multiple of 8?

(a) 8 ® 4

© 6 @ 2

8% 98 B, D, C, M, J 3 K #1 -t & & wgt & Renfoa B aan ¢ 3k & ot
# @ frem I B, oY TR o 9@ A uw el gl ofda F o el & Se wee B
MFRr M dFa F AT AN IF RN INE M CF I 81 KD & 7iF 3R &,
StM & WA Bl B & OF a8 3R Fi 87

Six men B, D, C, M, J and K are split in two groups of three each and are made to stand in two
rows, such that a man in one row is exactly facing a man in the other row. M is not at the ends
of any row and is to the right of J, who is facing C. K is to the left of D, who is facing M. Who is
to the i_mmediate left of B?

@ M

b) J
o D

@ 3er Ngaeg %/ Data is inadequate
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35.

36.

37.

38.

39.

40.

el q42 ot & sroF Al F g 4w ¥, Ry et gl & wrer ¥ aRy
9T FT TMC AC A HfOwaw fhaw gwd Wi §2

In a Birthday party there is a circular cake of negligible thickness, which is to be cut into
different pieces. How many maximum pieces are possible if five cuts are made?

(@ 10 b 12
() 16 d 20
ST UYF U F Y AT q&T F T Fr AT = &
refers to the creation of email messages with a forged sender address.
(a) TR/ Spoofing () 9T/ Phishing
(¢ AT/ Spamming (d) = a7/ Logic bomb
U Jafifed Hear o siEReT # Rl ve i gy ad ¥ 2l
A built-in number that identifies a location in a storage is
(a) TSITLX/ Register (b) 9dr/Address
() f@15/Record (d) =13/ Byte

T 9 S A A Feaiid w9 F e ) dame f sifedee s F ofata e §
3 HET ST B

A program which translates source program into object program for executing later is called

(a) TSMEH / Algorithm () FUBR / Compiler
(c) 3IrRfET Rwea/ Operating system (dy wEnfHeT s/ Programming Language

npx@gmail.com & gmail F Fr 37T &7
What does gmail stands for in npx@gmail.com ?

(a) BHAA/Domain () AFST/ Host
(¢) 3YARTHAT AH / User Name (d) 9dr/Address

CPU & qoT &7 &T §?

What is the full form of CPU?

(a) EFQI“ZT grRfeT uﬁrcl Computer Processing Unit
(b) dgo WATHT 2TI‘:EIE'/ Central Processing Unit
ORRGEEL R i =Tl gfaie / Control Processing Unit
(d) Fegex wrafAw FfAe / Computer Primary Unit
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41.

42,

43.

44.

PART - III

'THfd F W deAT faoreR dEer # gER S

‘Learning in communion with nature’ was propagated by

(@) AT [4dF=ee /Swami Vivekananda (b)  HEIeAT et / Mahatma Phule
() dleg=y &MY/ Rabindranath Tagore (d)  HECHT It/ Mahatma Gandhi

&l aFEn i g9 S A RN w1 W U e & v weei Rwer F e efewr &
B THgE W R @ €2

In which approach of cooperative learning do students depend on each other to solve a problem
or complete a task?

(a)' WrA-SNE-ABT FU / Think-Pair-Share

(b) UH WY HAhA T5@ / Numbered Heads Together
(c) T3s-ATasT / Round-Robin
(@ Torar R/ Jigsaw Method

AT IRENCER ¥ AR, TR RFw 47 (ZPD) &
According to Lev Vygotsky, the Zone of Proximal Development (ZPD) is the:

(a) BT #1 H@en fSHH w6 B WA T @ AERA FAA FT Tl & / Range of skills
that a student can master independently

b) FRe F @A T & I HOF FEHER 3T A F A § AGRA gl I

T & / Range of skills that a student can master with the help of a more
knowledgeable others

(¢ B & fae & arafds I Fwfda T F T AT/ Difference between a student’s

actual and potential levels of development

(d)y =taer Fr T S F vF F AT 7Y F SR e ¥T FT TFaT &/ Range of skills

that a student can master within a specific period of time

fArfaf@d & @ 51 a1 o7 &F TfT F AR FAGCHS AT T 87

Which of the following is not a cognitive domain as per Bloom’s taxonomy?
(@) TaeYWOT/ Analysis (b)  HeiFA / Evaluation
(¢) 3INTHNY / Self actualization (d)  31AEsT/ Application
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45.

46.

47,

48.

e REOT A1 e ¥ :

Enculturation is the process of:

(a) qm’r * ﬂ'\?ﬂ' &l Hﬁ{“’f HYATAT / Adopting the values of significant others

(b) HUA HEpfT A I eAfAAcT F WA F / Imbibing one’s own culture in one'’s
personality

(c) i‘l’%—'m:ﬁ' 3R st # Uiﬁﬁ' T / Integrating the culture and traditions
(d) I It & JfA-Rawit AR Al A FEFR FIET / Accepting the customs and

values of other cultures

FHET &7 g P & Tov a5 aRfFufa & Ot 8 gl # sgater e & 9= @ gRar
FEAT o
The ability of a child to use learnt material in a new situation to solve the problem is called:

(a) FAAWOT/ Analysis (b)  TWWUT/ Synthesis

(¢) 31ags / Application (d) 3t/ Knowledge

%5 RPsa ZANT NHRwHaT RAGia Aser 1 Gaw & :

Contingency ’fheory Model by Fred Fiedler is concerned with:

(a) TdY HIrea & o Aar éﬂ'ﬁ-ﬁl’l’vﬂ'l Integrity of a leader in an organization
) fRET HarsaT & U oIar T TfeeHIuT/ Vision of a leader in an organization

(¢) oY Yoraer 3 ush Aar @ Fdell / Work style of a leader in an organization

@ Ry @5 3 uF a1 9 wsnaehar / Effectiveness of a leader in an organization

QAQRTVT &1 Hel 3227 WeIdal HGA §

The basic purpose of supervision is to help

(a) «Eal & 30F goEr g1 & @@ 7/ Children'learn more effectively

(b) Ter & Tl A FuR FA #/ Teachers in improving methods
(c) TRerpi & ol F GRS F/ Teachers in understanding pupils
(d) TTF & ST F ATY YGER A/ Teachers in dealing with pupils

11 1499



49.

50.

51.

52.

W T {ET SecRelidcd §
The chief responsibility of the principal is

(2) RRreror A= H ﬁ'ﬁ_ﬁ WSl ST / Provide leadership in instructional plan
(b) AR FEHA gaeud 3R RIf&T FT / Organize and administer the guidance

programmes

(©) HTTHe [l AT & G / Handle discipline problems
(d) e RFiE F4T W31/ Maintain school records

& % 3T F IUATT FT NFAT FT &

To assess achievement at the end of instruction is

(a) AMcA® IHTFcleT / Summative Assessment

(b) TIAA® AT / Formative Assessment
(c) SASIA® HTHe=T / Diagnostic Assessment

(d) < EHE 3THeeT / Placement Assessment

8T T aTqIaIoT Uar g Wigw

The classroom environment should be

(a) WHEeA® IR Remdf & wagsar & HJAR / Positive and as per the need of the

learner

(b) BIET B TIATAT 9Tl =T / Providing freedom to students
(¢) WP/ Co-operative
(d) I 3/ All of the above

FET # FAoh-giepiaew fafauar # aemEr & & o7 g aIiee

Benefits of promoting socio-cultural diversity in the classroom should be

(a) R wepiaal & HTATEAT HIAT/ to be critical of different cultures

®b) TTE @ & PIAUF F F6I7 & AT/ to enhance memorization skills

(@ El\ah'l"b" 3R AeHT & FH FA & fAT/ to reduce prejudice and discrimination
(d) BET S ATA FAT/ to label students

12 1499



53.

54.

55.

56.

UF R & He Y9us el @ e 6 Tt ot tae g &t

A teacher should employ classroom management strategies which focus on

(a)

(b)

©

(d

i et & AremA @ w8 A RADNT FE1/ controlling the class through formal
rules

A FoOf W UF WA SGER I I T / expecting uniform behaviour from all
children

Bl # faer Rl wee & | ATAT 1 9 FUST / making students abide to all rules
without questioning

HcAfdaa & v w@ieT 3gav &A1/ giving ample opportunities for self reflection

v B frdl s & weraar & e ey gae & g9 w6 @ 99 aan & R @
=fgw

A student tries to solve a problem without any help from a teacher. The teacher should

(a)

(b)
©

@

3¥ YA WEHAG ¥ ACG o Y WA & / Advise him/her to take help from his/her

colleagues
30 W & & &/ Pay no attention to him/her

39 e & A& w1 wed T =S A T &/ Advise him/her to strictly follow

the teacher’s instructions
30 SATFAITT TATH F Heaidel $Y/ Appraise his/her individual effort

ffaf@a #& & sl @ daecRs drad & IR & IoaEe T 3T 37

Which of the following is an example of higher-order of cognitive learning outcome?

(a)
(b)
(c)
(d)

At AT 37d AT T WG/ Learning of facts and their sequences
HFFBIT 3 3T 3rTFAT B =T/ Learning of roles and action sequences
FEURON3T 3 FGAST F F@A1/ Learning of concepts and abstractions
SRl HR FHedisa W@ / Learning of awareness and valuing

Fen & facmfdat & €1 sgaa ¥ w2 e &2

What is the benefit of changing seats of students in classroom?

(a)

(b)
©
@

Ig GATae 896 IR sHaarcAs A3 F qGET ST ¥ / It promotes social interaction
and emotional bonding

T T H e FEGH 16T FA & / Children do not feel inferior in class
Iat I ToT AT 30F cAfeard s9rar &/ Makes children free and more confident
v faefa # w@ra B Srar ¢ R 3w 3R Far f AR § aftw

foRar JTAT & / New comers are welcomed and involved in school and classroom activities

13 1499



57.

58.

59.

60.

TEA @1 38 THR & e «afFg & @ Avie an ) w@Eeaar § S @

The type of administration in which autonomy is given to take individual's own decisions is

(a) 31@??“3‘-[3? YA / Instructional administration

(b) wEVS HAT TAHA / Laissez Faire administration
() TcAERY WUTHT / Authoritarian administration
(d 3RFT H § NS €T/ None of the above

AT At & AR §

Traits of local leaders are:

(a) TPRIAT TATGS TOCHIT/ Positive social attitude

®) e e / Physical fitness
() FARA® &aT/ Mental ability
(@ 39T §3/ All of the above

s Fe #, aff o e vowe W @A A A w1 w1 §, A g hEe 3eeRr &7

In a class, if students work together in groups on a project, it is an example of

(a) =TEEI@E iecHIUT/ Behavioural approach

(b) ﬁ;ﬂﬂT—WWUT gf®eaiuT / Information — processing approach
(c) TIHITF TAATEET TFEHIOT / Social constructivist approach
(d) ToEcHF TREHIOT/ Instructional approach

mm%#ﬁmﬁmﬁﬁaﬁa@mﬁwﬂtmﬁm$ﬁmmﬁﬁ?

As per the cognitive development theory of Jean Piaget, adolescent students are in which
stage of development?

(a) HAL-HEX TIUT/ Sensory-motor stage

() 3T gf=mes 90T/ Concrete operational stage
(¢) uR=ETAs TIOT/ Operational stage
(@) oo gf@raa @7/ Formal operational stage
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61.

62.

63.

64.

65.

FEgddd & Afas AFEw R &, TWor 3 T 2 W, IR AfAFar F aead &
In Kohlberg’s moral development theory, Stage 3 at Level 2, conventional morality refers to:

(a) ITaar AR €8 #ATRA=AH / Obedience and punishment orientation

(b) 3BT ASHT - HTEI d5hr 1 T3 / Good boy - good girl orientation

(c) et 3R sggEr W,'Q’IW{UT / Law and order orientation

(@) TAfo+ 3‘1@3’4’ iR =afFaea sffeR 3R / Social contract and individual rights

orientation

e & AFT o1 gday, Wcaed v HEyT F i #:T R &
Co-ordinating, stimulating and directing the growth of teacher is the purpose of

(a) TANBIOT/ Inspection (b) 9AUTH / Administration
(¢) U&HsT/Management (d gdderor/ Supervision

ffaf@a & & i @ R w=n & e & omt & 3w seied gfafRad & §2

Which of the following methods ensures maximum participation of students in classroom
learning?

(a) TWEAA &7/ Lecturing (b)  ==T/ Discussion

(¢) %&/Demonstration d BT J&Is faf® / Text book method

Frfafea & 3 #ind Ruoriasy & afwn 3, wey ) 82

In teaching learning process, which of the following are dependent variables?

(a) ®IF/Students . ()  Teror AT/ Teaching Principles
(c) THeT / Teacher (d) HAaG-RAAr/ Parents

Tfaf@a § ¥ #i9 g geEEs & "WEs & A § § uF 2
Which among the following is one of Edward Thorndike’s “Law of Learning”?

(a) 9O &1 fAIA/ Law of motivation

(b) gFaIT HR F FAF/ Law of individual difference
(c) T HT AIH / Law of exercise
(d) IWEFdT # § BI5 A&/ None of the above
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66.

67.

68.

69.

Rt F IccRERT 96T F A0, TIQ FAFedqUl 9g 6

To make teachers accountable, the most important aspect to be given to them is

(a) fwemor € wwalr #R qdet & T F FacFdr / Freedom in the selection of content and
methods of teaching

() Rreror 3R wdreror F FTARIOT/ Training in teaching and examining
(¢) =aEER® faww @& 398T/ Opportunities for professional growth

(@) 3T Tg&E W BARTGROT el & a7 T 96a ¢ / Transfer to places where they want to

serve

mwﬁm,maﬁaﬁmmmmgwmw%

Aécording to Alfred Alder, the primary cause for stress and strain in an individual is

(a) &ar $ AEAT/ The feeling of inferiority

(b) T4 & A Y TS/ The desire for knowledge of the self
(¢) JT g d H@ﬁ%‘ #¥ 3TBT / The desire for gratification of the sex impulse
(d) TEU & AT aid STt 97 SoraTAT / The curiosity to know the mind of others

dflreg s SUPW & fawaia &9 &=r 87
What is the expanded form of the abbreviation SUPW?

(a) Social Upsurge for Progress and Work
(b) Scientific Utilisation of Productive Work
(©) Socially Useful Productive Work

(d) Solution of Utilitarian Problems of Work

vt s Afsa fFas g@rr Rsfa far amr ar
The Managerial Grid Model was developed by

(a) @4t 3R =TS/ Hersey and Blanchard
(b) FpseR/ Fiedler

(0 NN 3R. =% 3 . A3/ R. R.'Blake and J. Mouton
(d) HAfFA/ Mckinsey
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70.

71.

72.

73.

74.

75.

Ti¢ #1 Bragd Rigla BFad @Emr Rsfa S mwr a2
The Triarchic Theory of Intelligence was developed by

(a) BES TSR / Howard Gardner (b) TaE . Tt/ Robert J. Sternberg
(¢) Ud. Uel. &1/ L. L. Thurstone (d) &ud. UEEES/E. L. Thorndike

Rgror-wift & wiFar & wAdaror aak W e garT fRar ST €7

In the teaching-learning process, supervision is usually carried out by

(a) AT / Teacher () HG-ar/ Parents

(c) AT/ Principal (d) A/ Society

gREET wete Rgia & s+ #l §2

Who is the father of operational management theory?

(a) WY BAA/ Henri Fayol (b) 63 ERIWT/ Fredrick Tylor

(© & AT FHAT/ Terry and Franklin _ (d) Ueee &3/ Elton Meo

AT # gaA Rew 3@ fhed Aga F wfa B @ ar

The first education commission in India was set up under the leadership of
(2) X FEHH 5/ Sir Cahasles Wood  (b) @IS #&1el / Lord Macaulay
(¢ ®X fafoF# gX/ Sir William Hunter (d) &Y 4iA® &Y/ Sir Thomas More

ATRE Aiea $r Hla @ @ I, 3T G-, ggifa i duar ¥ w&fea 2
Which branch of philosophy deals with knowledge, its structure, method and validity?

(a) %/ Logic (b)  Higdemea / Aesthetics
(¢) A-AATHT / Epistemology (d) dca-FHET / Metaphysics

ﬁmﬁ%aﬁ#aﬁaﬂagwh%ﬁmﬁaﬁ?rﬁﬁ?mﬁﬁw%ﬂ%ﬁﬁmq@ﬁ
ar FRAAE FaUT Y g T §2 '

Which among the following is the process in which one identifies the common aspects or basic
relationships in a variety of specific situations?

(a) URIEOT/ Abstraction (b) HHANSIOT / Generalization
(c) THEAT AN / Problem Solving (d) &% /Reasoning
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76.

77.

78.

79.

80.

o7 F T T YOI ¥ DoEg vd qefead e A aiffe A e il @

Which is the apex institution involved in the planned and coordinated development of the
teacher education system in the country?

(a) g ot W/ UGC ® T A § 3R &/ NCERT
(¢ TT W & §/NCTE (@ vFg ¥ § 3§ 3/XSEED

STE & e ren-cardy E-werar @ S @ @7

Which was the first district-wide e-literacy project in India?

(a) ¥3r g &/ C-DIT (b) UA 3 G/ NIC
© 3IEA@FHe / IT@SCHOOL (d) 318 /Akshaya

o g 3 AR RN & 4 @ A B e # T o ¥

The technique of measurement of the patterns of social behaviour in a group is known as:

(a) WRRAIH/ Sociogram

(b) ZEYFIAA 32T/ Interactional analysis
{c) arATfo® E@' #T AT/ Social distance scale
(d) WAL/ Sociometry

dad [Fw §

Sustainable development is

(a) ¥ad AT FWGA! W AT fIGR FEAT/ Giving consideration to human needs only

() TGHE NE Fw AT fasT® &G / Giving well planned development of present

generation

(©) mmﬁmmﬁmﬁmgmmﬂmmmf

Giving well planned development of present generation considering the needs of the
future generation

(d) ¥Faw wE G & gEAET fa®rqy FAT/ Giving well planned development of the future
generation only

TIAICHS He e F 3027 §

The purpose of formative evaluation is
(a) 9% AT FAT/ Assigning grades (®) eI &aT/ Giving pmﬁlotion
() TBHHT &\Wl'cﬁ?f / Peer evaluation (@ wfafsrar were &1/ Providing feedback
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81.

82.

83.

84.

5nqﬁm$wmmaﬁmﬁaﬁm‘éﬁ3gmwﬁﬂ;ﬁvmm%l'm
AT 9RO AT F4T §?

A conducting wire of 5 Q resistance is stretched to increase its original length by 3 times.
What is its new resistance value?

(a) 5Q
¢ 30Q

15Q
45 Q

®)
@

TF 16 W 3aUUs & J1 Hig Gren, Fen, ga 3R 9idr gar & odius & Aregw ¥ yaRka
#I AT gF grel NSwdH U F=r &2

A 16 W resistor has colour code of Yellow, Black, Green, and Silver. What is the maximum
current which can be passed through the resistor?

(@ 1mA (b)
(¢ 4mA @

2 mA
5 mA

fer s affe &, R1=6Q, R2=40 3K R3 =20 | $eREt & 3ol w7 F 32wr
mﬁg@,AaﬂTBaﬁmﬁw%ﬁH*mmuﬁmﬂaﬁrmaﬁ?

In the given circuit, R1 = 6 Q, R2 = 4 Q and R3 = 2 Q. Calculate Thevenin’s voltage and
resistance across A and B terminals, ignoring the internal resistance of the batteries?

R1 R3
AN & MA— A
R2
+
20V N
—T—sv
s B
(@ 15V3i/and24Q ® 11V3R/and440Q
© 15V3R/and730Q (d 25V3i/and 120

I TuRT 1 FAEiarR et F o7 7 gl 3l w1 & S, o Ui el & d ol
T 471 gE?

If distance between parallel plates of a capacitor is halved, then what happens to the potential
difference between the capacitor plates?

(a)
(b) 47T ¢ ST & / Increases by 4 times

(c) EREHT JTT & ST &/ Decreases to half
(d) @& WaT &/ Remains the same

2 9T G ST # / Increases by 2 times
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85.

86.

87.

88.

89.

F TURE T 2 mA 1 RUd URT A GT a0 3T Aot 1s JRIe H 5V aF Ferm
Frar & sue afiar A &1 87

Voltage of a capacitor is increased to 5 Vin 1s interval by charging it with a constant current
of 2 mA. What is its capacitance value?

(a) 100 pF (b) 400 pF
(0 1mF (d 2wmF

20uF,33p.F,47pFSﬂTIOOpFa?ﬂleOOVHHﬁﬁmﬁs_ﬁgﬂgl!1?1%?[
FolT & T §7?

Four capacitors of 20 pF, 33 uF, 47 uF and 100 uF are connected in parallel across a 100 \'
supply. What is the stored energy?

(a) 02J ® 05J
© 1J @ 24J

F 9% A 1A DC URT YaIfed @ ¥l A sue e 100 pH ¥, A7 01 W g
w87

An inductor carries 1 A DC current. If its inductance is 100 uH, then what is its inductive
reactance?

@ 0Q ® 100
() 50Q (@ 100Q

A 0.4 H aur 2.5 H ¥ Ta-Owed a8 & il e § 3R 3 aReais S 0.2 H
& @ He @ IO I L2

If two coils having self inductance of 0.4 H and 2.5 H are coupled and their mutual inductance
is 0.2 H then what is coefficient of coupling?

(@) 0.2 () 1.45
© 2.7 (d 5

fra agfed W 2.5 mH 9 AR 1 pF SORa $r afoare qae g

At what frequency would a 2.5 mH inductor and a 1 pF capacitor have the same reactance?

(a) 318 Hz (b) 3.18kHz
{(c) 318kHz (d 31.8MH:z
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90.

91.

92.

93.

frafaf@g affe & Ru=20Q 30T Rs 5 & 20 Q 7% uRadeeld gl R # ifFaw R
AW F Rs &1 1 {T gl 67

In the following circuit, R = 20 Q and Rs is variable from 5 to 20 Q. What value of Rs results
in maximum power transfer across the R.?

Rs
- AN
Ve R,

(@ 5Q ® 100

© 15Q @ 20Q
Rrfafad & & A cadas SR 87

Which of the following is a secondary cell?

(a) FreeT {59 / Carbon Zine (b) 9T/ Mercury

() TS HEAYH/ Nickel Cadmium (@ AR 3iTFArss / Silver oxide

5 Q HaR® ¥AAY a TR L5V A 30 Q &5 F WA f@en # I3 gU §I Fhe & eAH
¥ U YaTE FA 87

Four 1.5 V cells of each having 5 Q internal resistance are connected in series with a 30 Q
load. What is the current through the circuit?

(a) 0.05A ' ® 075A
© 05A @ 0.12A

0.7V 39sT gfke aees, 0.02 A oFe Tfde &t AR 0.5 ra X g @l A A 3fFan

HT3TYC HraR AN A0 FE

Calculate the maximum output power of a solar cell having 0.7 V open circuit voltage, 0.02 A
short circuit current and 0.5 fill factor.

(a) TmW - b 14mW
() 28mW (d 56mW
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94, FRTAfRT F 6N TIAAT & 95d FH A HIRYT FI

95.

96.

97.

98.

Arrange the following in the increasing order of magnetic permeability.

(a) dile<iadg < gfagadrT < H[gada / Ferromagnetic < Diamagnetic < Paramagnetic

() wfagrehT < R < diggashrr / Diamagnetic < Paramagnetic < Ferromagnetic
(€) ITTFRY < wlagrah < diggradIg / Paramagnetic < Diamagnetic < Ferromagnetic
(@) dedahT < e < wicraig / Ferromagnetic < Paramagnetic < Diamagnetic

UF CBRR & TERRIEOT URT F 60 Hz, 300 V 3R & ¥AM T @A & AU 50 Hz W
Hfef et @ A0 F

Calculate the supply voltage at 50 Hz for a transformer to keep its magnetization current
same as that of 60 Hz, 300 V supply.

(a) 125V (b)y 180V
() 250V dy 360V

aﬁa@ﬁn;ﬁwﬁw@rwﬁﬁﬂzﬁ%*fmmﬁ#mmmw#h

Which of the following statements is not correct for an autotransformer compared to a
two-winding transformer?

{a) &HH F;[FFHHI Lower losses

(b) FeAX die FATATHS / Better voltage regulation
(¢) BIET MFR / Smaller size

(d) FTaR Icdoid UNT/ Higher exciting current

0.6 & ¥ I & WY 15 KVA HOGREER & Qv ROE &9 & sraaRa g afga &
foraelr 71T 87

What amount of total power is transferred inductively for a 15 KVA autotransformer with
turn ratio of 0.6?

(a8 6KVA ® 9KVA
(© 11.5KVA (d 15KVA

TeAEdt FEAAIEEd YN A1 dled ¥ fow @t FRE F A 147 82

What is value of peak factor for an alternating sinusoidal current or voltage?

(a) 0.636 ®  0.707
© 111 (& 1.414
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99.

100.

101.

102.

103.

TF e U Wia # Hiaks yiorer &

The internal resistance of an ideal current source is:

(a) I 9fa0Y F MY & GUST/ Equal to half of load resistance

(b) T ARV & §& / Equal to load resistance
(© Y=q/Zero
(d) 3d/ Infinite

AC wfde & otg 91 arafas afFd AR T gfea & @i & T H FE S0

The ratio between actual power and apparent power of a load in an AC circuit is called:
(a) T ufafrarier/ Power reactive (b)  IOTECAT FRF / Quality factor

© ofFa J=UTe / Power ratio (d) 9raX ¥aeT/ Power factor

TF FAMK e aRey & adafda Sshgy s § 3wt Q 100 3R gy sngliea
10 MHz 87

What is half-power bandwidth of a parallel resonant circuit which has Q of 100 and resonant
frequency of 10 MHz?

(a) 50kHz {b) 100 kHz
(c) 500 kHz {d) 1 MHz

afe Ry wide & i aleesT &I 45° dF & T &, af I8 Yeiiia 8iar &
If a circuit has a current that is leading the voltage by 45°, then it displays:

(a) g &THCAT T wfa=rd / Pure capacitive reactance

(b) Y& HIHATCHD yfd=rd / Pure inductive reactance
(0 i 3iiw enfar &1 9T / Resistance and capacitive reactance
(d) wfave it Wfs 9w / Resistance and inductive reactance

tF RC ¥fhe & R = 10 kQ 3R C = 0.1 pF ¥ «fdlor & faw aep @cesr 10 v 21
C # 6.32V T dIst g 3 Rhaer wHT Taem?

An RC circuit has R = 10 kQ and C = 0.1 pF. The applied voltage for charging is 10 V. How
long will it take C to charge to 6.32 V?

(a) 0.1ms ® 0.5ms
{(c) 1ms (d) 2 ms
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104

105.

106.

107.

108.

109.

.Wﬁ%@ﬁm%%mﬁ%%m%ﬁmwwﬁgﬁ
yiafRar F & S §

The critical frequency of a filter is defined as the point at which the response decreases by
from the pass band.

(a) 3dB b 10dB
(c) 20dB (d 404B

c=1pF%a’t~1.ekHz£rasz-aﬁmaqq%{mmazﬁvwmwmfhmw%
T FRUF F AW I E?

What is the value of resistor for a high pass RC filter to produce a cut-off frequency of
~ 1.6 kHz if C=1pF?

(@ 1 ® 10
© 100 @ 1000
wﬁﬁaamma?ﬁv,aﬁw—ﬁmmﬁm: 500 Hz 3R 2 kHz §, o &

i»'dslﬁ_f?cf(fc)a;ra:tﬂiaﬁfﬁ‘?

For a wide bandpass filter, if the cut-off frequencies are 500 Hz and 2 kHz respectively,
evaluate its centre frequency (fc)?

(a) fo =750Hz ®) fo =1000Hz
(¢ f; =12560 Hz @ £ =1500 Hz
mecaﬁzmmmqﬁ{#maﬁrmqﬁlﬁ#m CIES

¥ w7 ¥ SUAER T ¢
A parallel LC circuit behaves as

load for the frequencies above its resonant

frequency.

(a) Wil / Resistive () eRar/ Capacitive

(&) WO/ Inductive (@ IR # ¥ #E 78/ None of the above
SrtaRE # & frad SRRy & RS AR I[oTh 87

Which of the following has a positive temperature coefficient of resistance?

(a) et/ Carbon ) Taf@@i / Silicon
(© arar / Copper (@ 373 / Mica

ﬁmﬁ@amﬁﬁﬁ,mﬁﬁﬁzﬁﬁgmmam%

Among the following values, the forbidden energy band gap in semiconductors can be
approximately:

(@) 0eV ® leV
() 6eV (d) 10eV
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110.

111.

112.

113.

114.

n-YhIY F IHATAF &
The n-type semiconductor is:

() TPRIcAS &T ¥ v RRar 71T/ Positively charged

(b) TFERIHAS T F THRT fHAT 7497/ Negatively charged

() fega ¥9 & dewy/ Electrically Neutral

(d) SN F U W TFRICHF qT FTHhRIcHD THIRT / Positively or negatively charged

depending on the doping
frafe # & @ Fwah sy &2
Which of the following is a trivalent impurity?
(a) IHfA® / Arsenic () &Y/ Bismuth
(© =T/ Boron d) HIERRY / Phosphorous

BRAE SRS PN St # a4 aifd 380 §9 @ =T & ST g &

Current flow in forward biased PN junction is predominantly due to:

(a) 3T ARSI H 4G / Drifting of charge carriers

(b) NI aTEHRl HT FER / Diffusion of charge carriers

() Y TSl # FgId H WER / Drifting and diffusion of charge carriers
(d) I9NFT T/ All of the above

afE PN ST s W Rad a9y Fomrm Jnar § ar it Faet TR &0 3491 8 &2
What happens to the Fermi energy level if a reverse bias is applied to a PN junction diode?

(a) P9FR & fow a@gar § 3R N5t F fU Fear &/ Increases for P-type and decreases
for N-type

(b) PvHR & AT gear § 3R NwsR & fAU dgar &/ Decreases for P-type and increases
for N-type

(¢) 39R@fda Ear &/ Remains unchanged
(d) PuFR AR N-UFR 2T & AT 3fg/ Increases for both P-type and N-type
PRds IS PN 3RE & fav #ia ar s a@dr 87

Which of the statements is correct for the forward biased PN diode?
(a) 3 YRT UGE / Large current flows

b) TAST FH AT I AT ¥/ The junction offers low resistance
(c) &efioTar T X & FEr §/ Depletion layer is reduced
(d) 390FT T/ All of the above
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115.

116.

117.

ﬁmﬁﬁmﬁ#a#hwﬁmﬁmwaﬁgm%?
Which of the following adds a DC level to an AC signal?

(a) UFSRIHRR / Amplifier ®) T/ Clipper
(¢) 9T/ Clamper (d) feseadi/ Rectifier
Prafaf@a ey & gl

The following circuit is a

(a) THAAT TFcHD 39T / Parallel Positive Clipper

(b) THAWR TARHD f3e7q% / Parallel Negative Clipper
(c) ’{@?-ﬂ' FFRIHF [Faa / Series Positive Clipper
(d) ’{@FIT FHITcH® [Fo1u< / Series Negative Clipper

aﬂ%ﬁtrmaﬁtﬁ%ﬂ%,ﬁ%-sv#wva?m%?

What is Ve in the circuit given below, if V; lies between —5 Vito+56 V?

C

o
|

@ O +5 V 9% T giar &/ Varies from 0 to +5 V

(b) o#+10Va$mﬁrg‘ra13fvaﬁesfmmom+1ov
(© 0ﬁ—5vw@ﬁrg\m%1vmesfmmom—5v
(d) 0#—IOVWWBTHT%IVariesfromOto-—IOV

26
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118.

119.

120.

121.

122.

faf@a affe &, I FE3T aleesT, Vz=5V, Rs=500Q, Re=1000Q 3iX Vs 10V &
15 V a& e giar 81 S 3R e, L & gaad IR Fftwaw A = §2

In the following circuit, Zener breakdown voltage, V2 =5V, Rs= 500 Q, R. = 1000 Q and Vs
varies from 10 V to 15 V. What are the minimum and maximum values of the Zener diode
current, Iz 7

Is
AA——s
+ Bs
Vs__=: Izlx RLglIL
Vz
o~
(a) 5mA3/and 10 mA ® 10mA3/and 15 mA
© 5 mA 3R/ and 15 mA (d 10 mA 3R/and 20 mA

Ffafad # @ a s/@is & 39aeT ogFs afee 7 R sar g2
Which of the following diode is used in tuned circuits?

(@) PIN 3/¥S/PIN diode () FT N&ad SIS/ Step recovery diode
(¢) &% IS/ Varactor diode (d) SR SANS/ Zener diode

PRI § ¥ 59 3@z & 39T Bl ey & w7 7 fwar smar 82
Which of the following diode is used as a photo detector?

(@) PIN 3RE/PIN diode (b) e ST/ Schottky diode
(¢) o= SIS/ Tunnel diode (d) I SIS/ Zener diode

TF HIASE A {9 R Qe & varfgd @1 arelt 4Ry @ S ST &
The current flows through a photodiode under no illumination is called:

(8) IIH FE/ Bias current b) 3% F< / Dark current
(¢) T3¢FIT T/ Detection current (d) W 4RI/ Saturation current

TFH BIAErAE #7 AT S9%d 4 mm? 3R TaeRiedar 0.5 AW §1 20 W/m? 6T 3mafad gemr
T & foIT PISEEIE #1341 §?

A photodiode has an active area of 4 mm? and sensitivity of 0.5 A/W. What is the output of the
photodiode for an incident light intensity of 20 W/m2?

(a) 5 uA () 40mA
© 20mA (d 40 uA
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123. LEanmwﬁamrm@Tﬁfa&tm%:
Colour of light emitted by LED depends on:
(@) 2T TR/ Doping level

(b) ©RAS TEH dreesi / Forward bias voltage
(© Rad T aee ot / Reverse bias voltage

(d) tTaTa® 9Erd / Semiconductor material

124.@%3%?%@3%%@3@:&&&3%%@3%? |
An ideal regulated power supply has voltage regulation of
(8): 0% ®) 50%
) T70% @ 100% ¢

125. BTF-3T YFeHR @ FAIE drecsr 220 Sin(1009 %) su% wscqe @ Hd Hed T E?

Input voltage to a half-wave rectifier is 220 Sin(100t). What is the average value of its output?
(a) 70V by 110V
() 140V @ 220V

126.ﬁaman§a-aatﬁ@?maﬁrmm:%

Ripple factor of a bridge type full-wave rectifier is
@ O ®) 0.48
© 11 (d 121

127, o wa-Aq YEHREEE FE F RMS F 20 A ¥ e YRR ¥ T g AW T
|

The RMS value of a full-wave rectified current is 20 A. Its value for half-wave rectification

would be
(@) 10A ®) 14.14A
¢ 20A (d 28.28A

128. WH@FEW(SCR)D?\‘WPN SFT A 27
How many PN junctions a Silicon Controlled Rectifier (SCR) has?

@ 1 b 2
© 3 (d) 4
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129.

130.

131.

132.

fArAfafd # & Fla @1 Faw & &9 F SCR &7 Iqger TRfeUfa 78 82
Which of the following is not an advantage of SCR as a switch?

(a) I 9 AT F AFT Fr A FHaw &/ It can handle large power
(b) TE AR T TaTAA ST &/ It gives noiseless operation

(c) THH 39ART Ioo fEafRir afd & arwr & 51 @Far &/ It can be used with high
switching speeds

(d) NI FHRIAFE Icqe=T A FIAT &/ Operation does not produce harmonics

rfaf@a & F Sl a1 Fu7 Fiaa-FaF giforey affe FEPRYT F AT 98 22

Which of the following statement is correct for common-collector transistor circuit
configuration?

(a) 3T9 FYC Widemar, IeT U7 o M 0° TOT agara / High input impedance, high
current gain and 0° phase shift

(b) Fo9 MBS GfaTen, I URT o AR FA QST A7/ High output impedance, high
current gain and low voltage gain

() 3T FAYC Wiaewem, FH 40 1w IR 3= T A / High input impedance, low
current gain and high voltage gain

(d) 3T AT W, I=I GRT H IR 180° TROT FEAT/ High voltage gain, hi_gh current
gain and 180° phase shift

gafean sitfEar g fBrar wem & aren arw afde &
The bias circuit that provides the best operating point stability is:

(a) &9 wiaE TI / Base resistor bias

(b) Fawey Bizdd 9% / Collector feedback bias
(¢ TA9a ¥/ Fixed bias
(d) darees fasera a1/ Voltage divider bias

3T GiAaIeT = 1 kQ, et oeT = 100 3R 9t 19 = 5000 § UF HAE-3cHS Zifoed
TFYAIBRR T 313TYE Ffaarer F1d i

Find the output impedance of a common-emitter transistor amplifier which has input
impedance = 1 kQ, voltage gain = 100 and power gain = 5000?

(a) 500Q by 1kO

&0 2kQ (d) 5Q

29 1499



133.

134.

135.

136.

137.

SRR § @ # @ sud sited g F v wd @ 8
Which of the following is not correct statement for Darlington pair?

(a) 3= $I9C wfa«ren / High input impedance
(b)y HH ABCIC wfaemar / Low output impedance
() 3= 4y as/ High current gain

@ 3= f&afier a1fd / High switching speed

ggtw=5pwaﬂtwﬂa=60dBaﬁmﬁlwaﬁraﬁzgzqmw%?
What is the output power of an amplifier with input power = 5 pW and power gain = 60 dB?

(a) 0.3 mW (b) 5H5mW

(©, 1W @ BW

wmwﬁmmﬁrmﬂqm=sooaméaﬂsm=mo%lW \

ﬁgﬂmm#ms@:é@aﬁma@rleoaﬁmaﬁmﬁmﬁaﬂqﬂ@wﬁ

HGIFHAT &7

A negative feedback amplifier has open-loop gain = 600 and closed-loop gain = 150.

What open-loop gain is required to increase its closed-loop gain to 160 with the same feedback

factor?

(a) 600 (b) 800

{(c) 960 (d) 1000

URT gic FsdF TEIAHIAY § FEOT:

Characteristics of current shunt feedback amplifier:

(a) TE FTIC wiaRier serar § 3R 3meqe QAT F5 HAT &/ It increases input resistance
and decreases output resistance y)

(b) a'efsagtwﬁﬂuﬁmm%aﬂtamgzqﬁfmaﬂm%utdecreasesmput

resistance and increases output resistance

() Tg 9T wfaer 3T 3m3eye YR 2=t @ Sgran & / It increases both input resistance

and output resistance

@ ITE FAYC TR 3R 3mEeYe gAYy 2t @ FH &I ¢ / It decreases both input

resistance and output resistance

ﬁmﬁﬁaﬁ#mﬂmﬂwmma(mmwﬁ?
Which of the following has the highest skin depth (all dimensions being equal)?

(a) mﬁﬁﬂ'ﬂ / Aluminium (b) AT/ Gold
(¢) Tdr/Silver (@  dm&r/ Copper
30 _ 1499



138.

139.

140.

141.

142.

P st JFET & fav, I gomcas eud deds sear & o |

For a P-channel JFET, if positive Gate-Source voltage increases then
(a) 39ATE URT FH @ AN §/ Drain current decreases

(b) HYAIF URT ¢ ST &/ Drain current increases
() 3varg aRT U W@ &/ Drain current remains constant
(d) YA URT, 39 T W Wit #{e % e §ar &/ Drain current equals drain to source

saturation current

Refaf@a # ¥ sla R ges &2

Which of the following is a relaxation oscillator?

(a) T XS / Clapp oscillator

(b) WS / Multivibrator

(c) TUT-FAFT 21 / Phase-shift oscillator
(d) 9T WS gl / Wien bridge oscillator

frree HifoeT $Y 35a smgfeq feuwar frad @woT g &7
High frequency stability of crystal oscillator is due to:
(a) H®F U 137/ More loop gain (b) BT WOT/ Small inductance

(c) 3T YfAWer/ Large resistance d 39 Q/HighQ

i § & R IR Tow SR AT ST 37

Which of the following is considered as a triggered pulse generator?
(a) TEES Fl?vﬂﬁ'@?{{Astable multivibrator

(b) ANIRTT Hedrarssel / Monostable multivibrator

(©) B Hifdeey/ Hartley oscillator

(d) Rraw 3ifADT/ Pierce oscillator

TH HAH FAES I B awd smgfed 20 kHz 81 Raer wesds 18 kHz W galRa g
g1 AM Rvae ¥ F@ & AT smgws S=fagg ¢
An amplitude modulated signal has carrier frequency of 20 kHz The lower sideband is
transmitted at 18 kHz. The bandwidth required for.the AM signal to transmit is

(a) 1kHz (b) 2kHz
(c) 4kHz (d) 8kHz
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143.m40%ﬂﬁu,mmm%mmarﬁ?r4owm%amﬁfs@égﬁmaﬁm
qrEede & Rraen afFd gidr 872

How much power is contained in each of the sidebands of an amplitude modulated signal
when there is 40% modulation and the carrier power is 40 Ww?

(@ 16W ®) 32W
© 64W (d 20W

144, DTARRE § ¥ Fi W FUA e AN & Ao F Ao ©7
Which one of the following statements is incorrect regarding frequency modulation?

() wadr Rzy IEw AlTgANT d @ ¥/ Its bandwidth is greater that of amplitude
modulation

(b) FHHT AGIRI RF gAW 1 & FH BIeT % / Its modulation index is always less than 1
(¢ O af T H Wigsds ¥ / It has large number of sidebands t

() FEF HARA AGEAAA I T &% dga AN UIARET & / It has better noise immunity
than that of amplitude modulation

145. PESHr Hggaes e 6 Cos (3140 1) + 15 Sin (1570 1) # SR e AR 91 872

What is the carrier frequency value in the frequency modulated signal
6 Cos (3140 t) + 15 Sin (1570 t)?

(a) 250 H:z (b) 500 Hz
(c) 1570 Hz (d) 3140 Hz

146. wuﬁﬁfqﬁqtrﬁsﬁwsgm(smz)ﬂmmmﬁmm%?
The oxide layer (SiOz) in an integrated circuit is used for:
(a) AT/ Doping’ (b) FeXEHAF / Interconnection r

(¢) TS/ Isolation (@ IRFT A § FE A€/ None of the above

147, BT & ¥ Al e afreEs vads f1 Edwar ¢ §2
Which of the following is not a characteristic of ideal operational amplifier?

(2) HA 3T gfarer / Infinite output resistance
(b) 3 Teid &¥/ Infinite slew rate
(¢ 3d ¥ tH 3R 3N /Infinite CMRR

(d) 3=ia ¥37a5Y/ Infinite bandwidth
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148.

149.

150.

151.

152.

153.

waﬁaaaﬁwmﬁwmﬁgﬁrwmaﬁﬁqhmmmﬁm
FqC # amgw B B e g, 39 FET ST 2l

A non-inverting amplifier in which total output voltage is fed back to the inverting input of the
operational amplifier is called

(a) SEIET/ Integrator

M) TNERE TFEEET / Logarithmic amplifier
() fa®es / Differentiator

(d) SISt HTAT / Voltage follower

aﬁwa‘@%ﬂwﬁﬁm*w*mﬁmmﬁ%aﬂgﬁsﬁw%mﬁ

retar 2
If we apply sawtooth wave as input to a differentiator then we get as its output.
(a) ¥9/Ramp (b)  HFASHR / Rectangular
(c) WIZIAIESH / Sinusoidal (d) F®/ Triangular

I R=200kQ 3R C=1 4F & $ERT W 1V YT deSH IR S & aF 1s & @
U HBCYE dlecs T 872

If 1 V input voltage is applied to an integrator with R =200kQ and C =1 gF then what is
its output voltage after 1 s?

(@ -1V ' ® -2V

0 BV (@ -0V

EAATT TEAT 68 T 2 HT [T F9 §:

The 2's complement form of the decimal number 68 is:

(a) 10111100 . () 01000100

(¢) 10111011 (d) 3IRFT F A FE 787/ None of the above

PFASTAAT HEAT 6B43 &I 3CH HAGEY o
The octal equivalent of the hexadecimal number 6B43 is:

(a) 301371 (b) 30556
(c) 65503 (d 173103

TSN FHEAT 11001.101 HT ZIHAT FAGH &
The decimal equivalent of the binary number 11001.101 is:

(a) 25.125 ® 255
() 256 (d  25.625
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154.

155.

156.

157.

158.

159.

160.

3-@N0R%$ﬁumgz1$mﬁmﬁﬁuﬁzﬁm§?

How many number of states with output 1 are possible for a 3-input NOR gate?

(a)
()

0 b 1
3 @ 7

BD+AB+C$TWW$WWZWANDMW2-WORU’IE@[MW
e 87

How many 2-input AND gates and 2-input OR gates are required to realize BD+AB+C?

(a)
(©

mwﬁwaﬁfaﬁmma?mﬁmﬁzsagtNANDﬁzﬁmmaﬁra?

2,2 ® 23
3, 2 @ 33

How many 2-input NAND gates are required to implement a half subtractor circuit?

(a)
(©

aﬁmﬁmﬁaﬁ,aﬂ‘ﬁiﬂﬂﬁaﬂmtﬁ;

3 ® 5
6 @ 9

In Boolean algebra, De Morgan’s law states that

(a)
©

8(log; 5) T A+ &

(A+B) = A+B' (b) A+B'=A'B
(AB)' = A'B' (d (A+B)'=AB

The value of 8(log, 5)1s
(a) 15 (®b) 96
(c) 125 (@ 243

g ofa & A & CMOS, ECL, RTL 3 TTL aF @it # caatead |
Arrange CMOS, ECL, RTL and TTL logic families in the order of increasing speed.

(a)
(c)

% qait $r JeFar F HHST

CMOS, ECL, RTL, TTL ®) ECL, RTL, CMOS, TTL
CMOS, RTL, TTL, ECL (@ RTL, CMOS, TTL, ECL

& ITATE AR foar S ¥

The figure of merit of a logic family is given by the product of

(a)
(b)
(©
(d)

ter-313¢ X gaR faed @AY/ Fan-out and propagation delay time
§=fazy 3R 39/ Bandwidth and gain
oy Afer afic of¥a 31963% / Noise margin and power dissipation

o Taed gadT 3R oif#d 379e3% / Propagation delay time and power dissipation

34
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161.

162.

163.

164.

165.

166.

AT 3R 3= AR A v A aF @ F Vou =35V, VoL=04V, Vig= 2 V 3T Vi =
0.8V 1 #HT g

A particular logic family has Vor = 8.5V, VoL = 0.4 V, Via = 2 V and Vi = 0.8 V. The low and
high noise margin values will be

(a) 02V,075V ) 04V,15V
© 12V,31V d 16V,27V

ffaf@a & 3 sl ar v Rdud ver =7 daw i

Which of the following is a non-contact type sensor?

(a) 3INegRIAF T/ Ultrasonic sensor (b)) O 3157/ Strain gauge
(¢ GRREHART/ Potentiometer (d wEdEE/LVDT

frfaf@a & 9 YRw 7y« A & RAv fraer 399 B s 2

Which of the following is used to measure linear motion?

(a) @3 A/ Load cell ) EEEE/LVDT

(¢) SN/ Barometer d) gAfETA/ Thermocouple
yAfFTe e Rgia o araia &7

The thermocouple is based on the principle of

(a) B Av/ Faraday law (b)  IHF &/ Gauss law

(¢) oot @i/ Lenz law (d) &% UHIE / Seebeck effect

Frfafed & ¥ oy &1 35 == &1 qFe w=

Which of the following iq a disadvantage of using thermistor?
(@) HG/ Expensive

M) WAT araA AT JBI/ Limited temperature range

() W& FET/ Not accurate

(d) ST FET FiST T/ Difficult to calibrate

CRO &r 393 A9t & fow fRar Smar g

A CRO is used for measuring

(a) 3TI3ﬁ-FT | Frequency (b) TIUT/Phase

(0 dreeT/ Voltage (d) 39T GHY/ All of the above
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167. diecHY A gfeRier @i aifgel

A voltmeter should have resistance.

(a) g HA/ Very low () =gd a7/ Very high

(© Y/ Zero (d) 3IWNFT H § FIS AL/ None of the above
168. U THICY & §iFe a9 & Ui # Ner St § G 4R F AT g

An ammeter is connected in ————— with the circuit element whose current is to be

measured.

(2) 4@/ Series (b) AR / Parallel

(c) H@el AT A / Series or Parallel  (d) IS 7 F FE FE/ None of the above

169. 4% 3% Il Ao F eI 8l & | ®

A 4% digit voltmeter has the resolution of
(2) T IS FT 0.001% / 0.001% of the full range

(b) q‘iﬁ' IS # 0.005% /0.005% of the full range
(e ‘{ff I F7 0.01% /0.01% of the full range

{d) ‘{ff = #71 0.05% /0.05% of the full range

170. UF AedHIex Hr Hdeahaar J 50 p A #eX 1 afy 1 39991 FA § ——————— B 8l
The sensitivity of a multimeter that uses a 50 # A meter movement is
(a) 1kOQ/WV by 10kWV
(©) 20kQV (d 50kQ/V
171.5Vhwwmﬂ§awﬁmwammaﬁrnﬁﬁmqﬁmm$ﬂ
100 zA & fow YT Fear T &2

What is the total resistance of a multimeter on the 5 V range when the meter movement is
rated for 100 u A of its full-scale current?

(a) 10kQ ® 50kQ
(© 100kQ : (d 500 kQ

172. RETART # ¥ A F Ay § nfved st &1 oo Fed AF @ §?
The slope of graphical representation of ohm’s law corresponds to which one of the following

(a) ST/ Resistance (b)  gfaarer / Impedance
(¢) oTRaT/ Capacitance @ WO 9faer / Inductive reactance
A 36 1_499



173.

174.

175.

176.

T §A BJIT arer §ffe o AEa H1 9837 &7 393907 &1 a5y §2

Can we use Norton's theorem on a circuit containing a BJT?

(a) &/ Yes
(b) &7/ No
(¢) BJT 9 AR ar &/ Depends on the BJT

(d) 39aTed T Were AT 7147 / Insufficient data provided

Q FNF o W GUINT F diees I T THET Y92

What happens to the voltage across the capacitor when the Q factor increases?

(a) &E FATAT &/ Increases (b) 9T FraT &/ Decreases
(¢) @& IEaT &/ Remains the same (d) LT & JATdT &/ Becomes zero
FRISAE 3R AR AT 7 7 31w &2

What is the difference between Photodiode and Solar cell?
(a) WIS & 1% Tdr a9 AT/ No External Bias in Photodiode

(b) WX AT & FF agd 197 7& / No External Bias in Solar cell
(c) WAIRISHNS H a3T Walg &9l / Larger surface area in photodiode

(d) FE AT 781/ No difference

A gt 400, SRETE qATET 100 I FEEER F QU AR TR ¥ 20A 4R VAR
BwWeEdrgt __ faen

For a transformer with primary turns 400, secondary turns 100, if 20A current is flowing
through primary, we will get

(a) HEATAF FTT T 800A / 800A at secondary
(b) ATEATAE T T 40A / 40A at secondary
(c) HATETfAF T 9T 80A / 80A at secondary

(d) HTEATHS & 9T 5A / 5A at secondary
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177.

178.

179.

180.

wHy Tutw yfafFr § 3Rwan I} & e Bar @ a7 82

Time constant is the time taken for response to rise of maximum value.
(a) 100% {b) 90%
{(c) 63.2% (d) 68.3%

LED =1 safdsr v g7 afige?
What should be the biasing of the LED?
(a) ¥eT a9/ Forward bias

() 9 13T/ Reverse bias
) . Rad s & GGG # wikad 998 / Forward bias than Reverse bias

(@ TRy Srafdar i 3vaeg@ar Jg1 § / No biasing required

9 3 a9 B ar § 99

Thermal runaway occurs when

(a) HoFeX fAulid aaFs &/ Collector is reverse biased
(b) EifSITT 919FE Ag ¢/ Transistor is not biased
(©) 3cH9® 3 9 £/ Emitter is forward biased

(d) SFIT FARET 31™F § / Junction capacitance is high

AM WaeA # afRd &
The AM spectrum consists of

(a) drg® IMGfed/ Carrier frequency

(b I & d83 3111%[ / Upper side band frequency
() IR uEs & 3117{?«-[ / Lower side band frequency
(d) I T/ All of the above
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